Which of the following is not a standard protocol used in loT domain.

fotat & & il oT Sldal & Gl fabdT oilel TTeT T css Jleidics olal gl

O Wifi
Q Z-wave

O Zigbee

Which of the following is not a main element of loT

folast & & lel IoT T & Tfchaie oTgl &

O People
O Process
O Security
O Things

The lloT stands for
lloT &l Aded &

O Indepth Internet of T

O Innovative Internet of Things

© Industrial Internet of Things

O Information Internet of Things




The huge numbers of devices connected to the Internet of things have to
communicate automatically is called.

Seeoic 3T fAvd & ofs fearsdyl ol 98 Tl i 3ieiAfeha! &U & Hde dadl & 5T
e AdT &l

0O Machine to Machine

O Skynet
QO Intercloud

O HNone

Which transport layer protocols is used by DHCP?
gleaefidt grer fasd ¢iauld &g Weipbie ol ol fabdT oiTdT g2

O RSVP

O TCP

O DcCcP

The huge number of devices connected to the Internet of Things has to
communicate automatically, not via humans. What is this called?

$ceoie 3T favg & ofs 92t doan & f2arsdy ol sfichifieam! TU & Bagfeidbe ol
ST g, of b A & ATETH &1 58 T Bl ATl 82

O Sskynet

O Bot2Bot

© Machine 2 Machine

QO Intercloud



MQTT stands for

O Message Queuing Telemetry Things
O Message Queuing Transport Telermetry

O Message Queuing Transport Things

© Message Queuing Telemetry Transport

Which is the core wrapper of GSN?
TEATS o1 F{E 3TN Bie AT &2

QO Serial

O UuDP

0O GPSTest

O ZeroMQWrapper correct

_______ supports low energy radio operation.

& Talutt dres <2t 3iTuderst ol aule tedl &l

Q Bluetooth correct

O IEFT CoAP

O RFID/NFC

O None of these



________ enables seamless integration of LOWPAN devices with
internet leveraging.

e 5L OIC T BIH IBTSl b AT LOWPAN f2aTSdoT & & Selvielel ol defd dadl

O Err elowpan

O [EFTCoAP
O RFID/NFC

O None of these

The Internet of Things will run on many communication standards. Which
of these is not a standard body or protocol?

Eedole 3T fAd g hagfoidbele 388 Ue TNl Fofdl & ol Uh &cas alel Al
QO Zigbee

Q AllSean

© HNone of these

Which category is used in the context of connected cars?

TOITCE BI &b Plecawe 3 fabdl Bt ol It T AT 22

QO Personal loT

O Community loT

O None of these



Which board is first to use microcontroller within build USB?

USB Sallel & [T Tad Ugc Blel &1 a1 ATSchlchelesd BT Il dbedl a2

QO leonardo correct

O UNO

O RedBoard

O None of these

"Aew odd faeea” & it 3mganet & o ias afddy o &7l & dT &l

O Application Layer
O Network Layer
© Perception Layer

O None of these

What is the advantage of MQTT over HTTP?
HTTP 92 MQTT &1 T Il 82

O More Secure

QO BothAandB

O HNone



Remotes enables entities that utilize loT devices to connect and control
them using a dashboard.

TRaie 3oT Rl ol Hefd Folldl & oil U seldls bl Iyl dhadh Jop doldT 3HIE hels
@edl b [T loT fEaTsde ol ol e gl

O Smartphones
O Tablets & PCs

O Smartwatches

O All of the above

The RFID is a useful 1oT architecture layer of the perception layer for

RFID, & ST UZd®ial B¢ thl Tdh Jahe loT AMfdbcaad odd &

O Object identifying
O Tracking

0O Exchanging useful information

Q Allof the above

Which of there following wireless technology provides mesh network
architecture in easiest way?

fAsffaa & @ ol ot araeed caoiioldl dad A6 detd & Ael dedd fdheads
TaTgs ded! &2

O Wi-Fi

O Bluetooth

QO None of the above




ZigBee is based on which of the following standard?

ZigBee folgaifa3ata # & fasd &2 ue menfed g»

O |IEEE 8025

Q IEEE 80215.4
O IEEE 802.4.13

© None

Which of the following is lightweight protocol used in loT applications?

loT & foidat 3 & Biel AT BIECAT Uedhies I fasdT ATar 22

O HTTP
QO WebSocket

QO All of above

WiFi-ah (Halow) is designed specifically for?
TATEBIE-3ME (Halow) A U & fads fAT deTrr 71T 22

QO Low data rate
O long-range sensors

O Controllers

O All of the above



MQTT suits are
MQTTIC &

© sSmdll and cheap devices

O Low memory devices

O Low power devices

Q All of the above

Which protocol provide full-duplex communication?

Bl T YIeTbies Bos-gead begfeidberd WIdIss dhedl 82
QO HTTP

O MQTT

O CoAP

IPv4 is bit address

O 128



The is the "Central Nervous System’ that takes care of global

services in the loTs.

"Heos oidd f@eear & Uit loTs 3 Tolde afdd & Te 2aEdn &l

© Perception layer

O Network layer

O Application layer
O None of the above

Remotes enable entities that utilize loT devices to connect and control
them using a dashboard:

fediie JoT A3 bl defd @ed ¢ uil U seldls ol gul Db Jog holde 3T Dl
@Yol & AT loT fBaTsd & Il dhedl &

O Smartphones
QO Tablets & PCs

0O Smartwatches

QO All of the above

The RFID is a useful loT architecture layer of the perception layer for:

RFID foFao&d o fT TgdRIel Bde ohl Tt IUAN loT 3Mfdbedas &ae &

O Object identifying
Q Tracking

O Exchange useful information

QO All of the above



Mostly used protocols in loT:

loT #H 3ifeldsde 3UIT fA T Wl dies Uil

O MQTT
O Zigbee
O XMPP

QO Allof the above

Advantage of MQTT over HTTP is:
HTTP U2 MQTT T TSdiod &

O More secure

O Lightweight
O Polling is not required

O Both (a) and (b)

Full form of 6LoWPAN is:
BLOWPAN fdardT afered s &

QO IPv6 over Low Power Wireless Personal Area Network

O IPv4 over Low Power Wireless Private Area Network
O IPv6 over Low Energy Wire Personal Area Network

O IPv4 over LongRange Wireless Private Area Network



Which wireless standards are used in cellular networks:

A@esd olcad 3 lel & ArIIed dleldd! dl IYANT AT oirdT &:

O GSM

O CDMA

O LTE

O All of the above

The full form of LoRa is:

B BT S Bl &
O level Range Radio
© Long Radio Range
QO Llong Range Radio
O None of these

The RFID technology consists of :
HTCHIHTE S Sawilesiot 3l fordel eMAS &

O Antenna
O Transponder

Q Transceiver




Which protocol is lightweight ?

I ATWEIDHIS BT &2
QO HTIP
O CoAP
O sPI

intelligent way to a particular situation ?

foseft facry fRIfS 3 geq ot gfeael adids & Ufafdhar oot & ST Biat ot fadar gsft
T 2

O Intelligence
O Connectivity
O Dynamic Nature

© Enormous Scale

The core element is operated by :

drRTfedAe _______ g1 SIS d €l &:
QO Paas
O 0T Service Provider
0 5Saas

QO laas



Who is the father of loT
31 30 €Y & HAolp Bialig

QO Bill Gates
0 Kevin Ashton
Q Tim Berners Lee

O Steevejobs

Which one is not a core component of loT

ST A il &1 ofTe 3t & T S puleic sl &

O Sensor/ Devices
O Connectivity
© Data processing

QO Emuail services

correct

correct



The most basic architecture of l1oT contains how may layers

Tad dfdih 318 31t <l sifdeaae & fobdefl ae gidt eft

O Two layers
Q Three layers
© Four layers

O Fivelayers

Which layers is not a part of basic 3 layer loT architecture

O Business Layer correct

O Application Layer
O Network Layer

O Perception Layer



Perception Layer of 10T architecture is also known as

O Recognition Layer

O Application Layer

O Network Layer

Q Processing Layer

Which type of devices are used to collect live data from the surrounding
environment

3MH-UTH o AIdIdaeul & &I5d scl Bdhd thdol b (b fdd Udble &b 3Udheull ol 3UTNT
fearomarg

O Data Processing
O Delivery of information

Q Sensors Devices correct

Q Connectivity

Which layer of IOT architecture is a physical layer.

|OT 3iTfdheaae ol dia H &5ae Td fhfadhs Sag g

O Perception Layer

O Application Layer
O Network Layer

O Allof These



Which layer of IOT architecture is known as Middleware Layer

I0T anfdeare &t fhd B5ae & f[AsHATE B B o & Al Aldl &

O Application Layer
O Processing Layer
© Transport Layer
O Perception Layer

Which layer of IOT Architecture is acts as the manager for the application

|OT 3Mfheamae ol el & Sae Tiichdhelel & fAT Uded & &0 A hIf dhedl &

Q Transport Layer
O Processing Layer
© Perception Layer

QO Business Layer correct

Data transfer rate of Bluetooth is:

SRC BT STl GleThe eT EldT &
O 21 Mbps
O 5Mbps
O 10Mbps

© more than 10 Mbps



Bluetooth Protocol designed by?

B HIeiaies fhads grer f3uTsel fasa 1 g2

O Bluetooth Special interest Group (SIG).

0O World wWide Web Consortium

O International Organization for Standardization (ISO)
QO None of These

What is the frequency of Bluetooth?
e ot Tt fasaeft 2t 22

O 245GHz
O 245GHz

O 245GHz

Bluetooth is operate on which type of network

B fhd UdTE ol olcad WITidIes &2

O wireless personal Area Network (WPAN)

O Local Area Network (LAN)

O Wide Area Network (WAN)

O Global Area Network (GAN)



Bluetooth low Energy is commonly known as:

S3C Bl Tatull ol HTAAIE 92 5 U 1 ofTell ATl &

Q Bluetooth 4.0

O Bluetooth 4.1
O Bluetooth 4.2

O Bluetooth 4.3

Bluetooth low Energy is marketed as

S5C Tl Hofl & &0 3l faUUTe fasarT ATaT &

O Bluetooth Smairt

O Low Bluetooth

© Bluetooth Large

O Bluetooth Fast

What is the full form of Wi-Fi
TTE-TTE ol s Bid T 2idT &

QO Wireless Fidelity

O Wired Fidelity

O Wireless Frequncy

O Wireless Free



Which type of transmission medium is used by Wi-Fi to exchange the
data wirelessly

aTa-Bls gIel aIdechdl ddlic & Scl ol 3MTGlel-Yalel ol o [T fdbd gialfaers ATedH
&I 3TN fSaT AT &

O Radio Waves

O Micro Waves

O Infrared

O Allof These

Wi-Fi is based on which of the following standard?

qTE-BTE fAeifaEad & & fdsd ATeTe Ue 3enfed 22

O IEEE 80210

O IEEE 80211
O IEEE 80212

O IEEE 80111

The frequency of Wi-Fi is between

aT3-BTg chi thiarddt o ot gt &
0 24GHzto5 GHz
QO 24 GHzto50 GHz
Q 240 GHz to 500 GHz

O .24 GHzto .50 GHz



WiFi HaLow is based on which of the following standard?

WiFi HalLow faaatfaf@a & & fosd diteias ue amenfed g2

O IEEE 802.11
O iexxsoomich
O [EEE 803.1ah

O [EEE803.1

Full form of LiFi is?
LiFi &1 qUf &0 g7

O lgntdelty

QO Laser Fidelity
O light Frequency

O lightFiber

LiFl is Based on which communication Principal

LiFI fapdt Shafoidberel filfdues ue sefdd g

O visible Light commmunication (VLC)

O In-visible Light communication (INLC)

O Ultra Light communication (ULC)

O Visible Power communication (VPC)



LiIFiuses ___ as medium for data communication

LiFi 2T &aTe & fOT AETA S ST H BT ITANT HLaT g

QO Air
Q Water
O Light

O Gas

What is the full form LED
TS @1 e Wil o glaT &

QO Llight-Emitting Diode
O Light Energy Diode
O Lighting Emitting Diode

O Low Emitting Diode

correct

correct



are the characteristics of 10T

O Intelligence, scalable
O Security

O Heterogeneity

O All of the above

RFID Stands for?

© Radio Frequency Image

O Radio Frequency Identification

O Read Frequency Identification

O Real Frequency Identification

Which technology used by Sigfox
f@Thiad greT fasat dassits ol IuTT fasam AraT &

O Ulta Narrow Band (UNB)

O Universal Narrow Band (UNB)

O Global Narrow Band (GNB)

O Local Narrow Band (LNB)



Zigbee is alternative to which technology

Zigbee fa5d dapeftas & fdded &

O Wi-Fi

Q Bluetooth
QO Fiber Optic

O All of the above

LoRaWAN Stands for :
LoRGWAN BT 31ef &:

O Llight Range Wide Area Network
Q Long Range Wide Area Network
O Low Range Work Area Network

QO Llow Rate Wide Area Network

NFC stands for

© Near Field Communication

© MNest Field Communication
Q Net Field Communication

© Net Free Communication



GSM Stands for

0O CGlobal System for Multimedia
© Global System for Mobile communications
O Grate System for Mobile communications

O Good System for Mobile commmunications

What is the full form of SIM
&9 o1 e Wi o gar 2

O simple Identity Module
QO Subscriber Identity Module
QO Subscriber Independent Module

O Sub Iimportant Module

What is the full form of SMS

O short Messaging Service

O Simple Messaging Service
© Short Mailing Service

O Send Mail Service



GSM (Global System for Mobile communications) is developed in?

HodTed (Fargs Fure & BT A uonel) Fafad fear = g2

QO 1970s
O 1960s
O 1980s

GPRS stands for

O Global Packet Radio Service

O General Packet Radio Service

© General Propose Radio Service

QO General Propose Radio System

LTE-A stands for

QO Low-term Evolution Advanced

© long-term Evolution Advanced

O Llight Tube Evolution Advanced

0 Low Transmission Evolution Advanced



WSN stands for
WSN BT Ao &

QO Week Sensor Network

O Wireless Sensor Network

Q Wired Sensor Network

O Wi-Fi Sensor Network

What are/is essential concept(s) for M2M Communication success?
M2M FHATE AHET & BT e raereul aul &/&?

O Continuous Connectivity

O Message Delivery for sleeping devices

O Massage Communication path selection
Q All of the above

Which one is not the feature of M2M?

M2M THt et 2t feradr sigt 22

O Low Mobility

QO Time Controlled

QO Circuit Switched

O Low Power Consumption



Which one from the following is not compulsory technology for
establishment of loT Setup?

foFifef@d & & diaa-aft 10T A3 &l @RIl & foT sifeard damefia o &2

O RFID
O Nanotechnology

QO Cloud Computing

QO None of the above

Mainly Real Time Systems are used for

ST U & Real Time Systems T WIT fahdT ITdl &

O Used for monitoring events as they occur
QO Used for real time interactive users
O Used by any time offline

O Used for real time coding

Which of the following is not similar to loT?

feloatfSfEd 3 & il &T loT & Hellol olg] 82

© Ubiquitous Sensor Networks
O Web of Things

Q© Cloud of Things

QO Virtual Things




ZigBee is most Suitable communication standard for loT.

ZigBee loT & fST TTH IUGh HATE ATeTh 2l

O Llow data rate
O Llow power consumption

O Both (A) & (B)

O Easyto setup

Which One is not the type of Memory?
Picr-oft A BT TTE oTel & 2

O NVRAM

O EPROM

O MASKED ROM

The LPWAN stands for
LPWAN T AdSd &

QO Low Power Wide Area Network

QO Low bit rate

O Both (A) and (B)

O short range wireless communication.



ISM stand for
ISM BT 31ef &

Q Industrial, Scientific and Medical

Q Information, Scientific and Medical

QO Industrial, Science and Medical

0O Industrial, Scientific and Medicine

il &1 U loT ATl &l U dad olgl &l dobdl 22

Q Application
O Nanotechnology

© Privacy

Which of the following is not an application of IoT?

folastfostard 3 & Biol AT loT T HeTIRIT ol 82

O Wearables

© sSmart Grid

© Smart City




What is the standard length of MAC and IPV6 addresses?
MAC 312 IPV6 Tl o5l FTeTch caTe ol 82

QO 48and32

QO 48and6a

QO 52andil28

We can deploy loT feature in Refrigerator to make it smart device, but

efThurdee ol ZATe f2aTsd dallal & ST & 53 loT Hlue &I &dhd &, Bfdpal __ _

© Firstly extend connectivity feature

O Make it Smailler in size
Q First trained the people to operate

O No prerequisites required

In the concept of Internet of Things, Things include:

edale A fafod &t srgemeon & <fif & enfds &
O Computer like Device
O Non-Computer Device

O Any electric device

Q All of the above



A huge amount of data is generated in loT system that must be:

loT fa&ear & of1et AIaT & 221 Idosl 2idT & Wl el If2T:

O Analyzed
Q Visualized
QO Stored

QO All of the above correct

full form of iot?

TS 3T BT s Wlaf

O Internet of Things correct

© Information of things
O internet of Technology

O None of These

TCP stands for?
TCP BT T 3ef &

Q Transmission Control Protocol correct

0 Telecommunication Control Protocol
O Temperature Control Protocol

0 Transmission and Communication Protocol



Which type of variables are retained for use throughout the program in
RAM and not reallocated during program execution?

RAM T2 TI9ITeT 3 3U9T & ST fobedt Ueble & dfeCacd ol dedsele 2l oirdl & 3iie Wimme
forsaTeat & et Yat: 3Tdfed orel fabar sirar g

QO Automatic

O Dynamic

QO Allof these

Mr. Rahul is seeking feedback after completing and implementing his
project. this act represents

ot 2Tge 3t ufedToTell o1 el heol 3¢ idfodd cheel b alg thigddb v g el
DHEoIdl &

O Time-Management
O self-Awareness
O Gratitude

QO sSelf-Love A
What is the size of RAM memory in 8051
8051 & RAM HA T 3MTHTE ool glaT 22

O 32bytes

O 64bytes

O 256 bytes



is heart of Computer system

HEee [AeA B Eed &
O Memory

0O I/o

QO Counter

o Processor correct

loT and cloud computing has what kind of relationship ?

loT 3f1¢ TE138 ST A fdse deg o dael g

QO Physical

O Complementary
O Graphical

QO Coding

How power supply is done to Raspberry Pi?

Zregadt dtams(Raspberry Pi) &1 fdoiest &t amyfd dod ot wrelt g2

© USB connection

O Internal battery
O Charger

O Adapter



Natural control system

UTpfddh foid=uT yumest
O Solar System

QO Digestive system

O HNone of the above

The OSI layer that arranges signals into logical units of information called
frames ?

0S| U2d I dbdl @ GaeT3il ot drfdsch shiedl 3 cuafeld dedl & foaid thal dgl wrdl
&?

O Transport

Q© Physical

O Application



Which type of cable has glass center core?

fobdl UehTe & Shacs df IooTd dce I elal &2

O urpP
O Fiber-Optic
O sTP
O Coaxial
A wireless network uses ............ waves to transmit signals.

TH TIEHH dedd [AJe1es ol & ST ........ T BT UL hedl &

O Microwave

QO Sound

QO Mechanical



